Limits, Continuity, Differentiation
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(E) It cannot be determined from the information given.

. 4n* )
lim ——— is
n—pn” +10,000n

(A) 0 (B) 2500 © 1

If f(x)=¢". which of the following is equal to f"(e)?
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At x=3. the function given by f(x)= is
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(A) undefined.

(B) continuous but not differentiable.
(C) differentiable but not continuous.
(D) neither continuous nor differentiable.

(E) both continuous and differentiable.
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(A) © (B) 3sec’(3x) (C) sec’(3x) (D) 3cot(3x)

It ]1'1113 f(x) =7, which of the followimng must be true?
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I, f 1s contmuous at x=3.
II.  f 1s differentiable at x=3.

I f(3)=7
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If the function f 1s continuous for all real numbers and if f(x)= B when x# -2,
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If f 1s a differentiable function. then f'(a) 1s given by which of the following?

oo fa+h)=f(a)
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The graph of the function f is shown in the figure above. Which of the following statements about

f 1s true?
(4)  lim £(x) = lim £(x)

(B) lim fi(x)=2
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©) lim ()
(E) lim f(x) does not exist.
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Let f be a function such that lim = 5. Which of the following must be true?
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I. f is continuous at x = 2.
II. f 1s differentiable at x = 2.

III. The derivative of f is continuous at x =2,

(A) Ionly (B) IIonly (C) TandHonly (D) IandIonly (E) IIand III only
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(A) In2 (B) Inég (C) Inlé6 (D) 4 (E) nonexistent
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